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Which of the following ix s non-renewable source of

energy?
(a) Wood (b) Sun
(c) Fossil fuels (d) Wind

Aus ; (0) Fossil foels

Which environmental hazard = not contributed by the
combustion of fossil fuels?

(8) Acid rain

(b) Greenhouse effect

(¢) Destruction of wildlife habitat

(d) Air pollution

Ans : () Destruction of wildlife habitar

Combustion of fossil fels does not lead to the
destruction of wildlife habitat However, hyvdroelectric
power projects lead to devastation of wildlife habitat,
soil erosion, ma-made floods, cie.

Choose the incorrect statement regarding wind power

(a) its temperature merenses

(b) lorger wnount of potential energy is converted
inta kinetic energy

(c) the electricity content of water increases with
height

(d) more water molecules dissocinte into jons.

Ans : (b) larger amount of potential energy s

converted into kinetic energy
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Which of the following 15 cmployed for hamessing the
potential energy of surface water stored in a reservoir?
(a) Thermal power plant
(b) Nuclear power plant

(¢) Tidal power plant

7

(d) Hydroelectric power plant

Ans : (d) Hydroelectric power plant

In a hydroelectric power plant, the Kinetic energy of
following river water is first converted imto potential
energy, when it is stored in s reservoir (dam) and
finally when the stored dam water flows downhill, the
stored potential energy of water barnessed in the form
of electrical energy with the help of turbine

Solar emergy i the unmversal source of enevgy. It is
comverted into chemical encergy by

(n) photovoltuc cells (b) solar cooker

(c) solar concentrators (d) greem plants

Ans : (d) green plants

Solar energy is the universal source of energy that
is nsed by all living orgumsms for their survival on
Earth. The greem plants convert solar energy into
chemical energy - food or biomass of plant, by the
provess of photosynt hesis

100 W/m® of solar energy is received by the Earth
IT all the energy was to be absorbed by a bucket of
water (mass 30 kg) mn 30 minutes, then the rise m
terpperature of water will be

(a) 18°C (b) 15°C
() M3°C (d) 123°C
Ans: (¢) 1437 C
Giiven, mass of water, m =30 kg = 30000 g
Specific heat of water, F=42JgrC!
nd time ¢ = 30 minutes
=30 x GOs
As heat absarbed by water is given by
Qy = msAb

= (30000 x 42 x A0)
where. A8 is the rise m temperature of water.

heat given ont by the sun = 100 J W

=100 Js *
Heat given ont by the sun in (30 < 60)s is

Q; = 100 x 30 x 60
=18x10°J
Let the heat gained by water = the heat lost by the
san

Now,

ie Q=Q
or 3000 x 42 x AbB =18 x 10°
AB =143°C

While filiug LPG in cylinders, n substance X is
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added to make the detection of leakage of LPG from
the cylinder easy. The substance Xis

(1) ethanol (b) ethanethwl

(¢) methanethiol (d) methancl

Ans : (b) ethanethiol

Ethanethiol or ethyl mercaptan is added while Elling
LPG in evlinders because it has a foul smell which can
be detected casily during any leakage of LPG.

For a muclear reactor, 48 KJ of energy is produced
wtnmmlfdmmmmkmdparﬁﬁun
32 % 107" ], then the number of fission which would
be taking place i & reactor per second is

(a) B x 104 (b) 2 x 10"

(¢) 52 x 10" (d) 25 x 109

Ans : (d) 25 x 10
Encrgy produced in 60 seconds = 43kl
Then, energy produced in 1 socond = 1o = 0.8k

= 800 .
Ir32 x lO‘”Jo[wurcbasudbylgxm.um
1 1 % %
800 J of e elased
0§t = e o 53
What sectar of the Indian economy consnmes most of
the nation's petrolenm?
{n) residential (h) commercial
(¢) indnstrial (d) transportation

Ans : (d) transportation

Globul warming focuses on an merease m the level of
which gas in the atmosphere?

{a) ozone {b) snlfur dioxide

(¢) carbon dioxide () nitrons oxide

Ans @ (c) carbon dioxide

Choose the incorrect. statement regarding wind power

(a) It is expected to harmess wind power 1o minimmn
N open space

(b) The potentinl energy content of wind blowing at
high ultitudes iy the source of wind power

(¢) Wind hitting at the blades of & windmill canses
them to rotate The rotation thus achieved can be
utilised further

(d) One possible method of utilising the energy of
rotational motion of the blades of s windmill is 10
rum the turbime of an electric generator

Ans: (b) The potentinl energy content of wind
blowing at high altitudes s the souree of wind power

Ocean thermal energy is duc to

(n) energy stored by waves n the ocean

(b) temperature difference at different levels i the
ocenn

(¢) prosenre difference at different levels in the ocean

(d) tides arising out m the ocean

13. (b) temperatSolar, biomass. geothermal, wind, and

hydro-power energy  are ol renewable sources of
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energy. They are called renewable becanse they
(a) are clean and free to use

(b) cun be converted directly into heat and electricity

(¢) can be replenshed by nature m & short period of
time

(d) do not produce mx pollation

Ans : (¢) can be replenished by nature in & short

period of time

Most of the eneregy we use origimally cue from
(1) the sum (b) the air
(¢) the soil (d) the oceans

Ans : (a) the sun

Propane is used instend of natural ges on many farms
and in rural areas Why is propane often nsed instead

of patural gas?
(a) it's saler (b) it's portable
(c) it's cleaney (d) it’s cheaper

Ans : (b) it's portable

Which part of the solar cooker is responsible for green
house cffect”

(a) Coating with black colour nside the box

(b) Mirror

(¢) Glass sheet

(d) Outer cover of the solar cooker

Ans : (c) Glass sheet

Which is the ultimate source of energy?
(a) Water (b) Sun

(¢) Uranium (d) Foesil fucls
Ans : (b) Sun

Ans - ure dilference at different levels m the ocean

The main constituent of bio-gas is
(n) methane (b) carbon dioxide

{¢) hydrogen (d) hydrogen sulphide
Auns : (n) methane

When the material £ mined from the earth is heated
strongly in an insuffictent supply of air, it produces
a solid fuel Q@ which mamly consist of carbon. When
gnother materinl R obtained from trees is heated in
an insufficient supply of wir. it produces another solid
fued S which also cousists mainly of carbon. Then,
which of the following is tine?

(b) @-conl

(c) R-charcoal (d) None of these

Ans : (d) None of these
As per the question, P i coul, @ is coke, R s wood
and § is chareoal

The mass munber of four different clements A RC
and D are 2, 35, 135 and 239, respectively. Which
of them would provide the most suitable for nuclear
fissaom”?
(a) A
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Ans:{a) A

In the process of nuclear fusion, 4 very small atom is
used as o foel Here, out of the four elements A, B, C
snd D the atom of element A is the mnallest, having
a mass number of 2 So, element 4 would provide the
most suitable fuel for nuclear Msion.

) D

Acid rain happens hecanse

(&) sun leads W heatmg of upper layer of atmaosphere

(b) burmng of fossil fuels release oxides of carbon,
nitrogen and sulphur in the atmosphere

(¢) eloctrical charges are produced dne to friction
nmongst clouds

(d) earth atmosphere contams acids

Ans: (b) burmng of fossil fuels release oxides of

carbon, nitvogen and sulphur in the atmosphere

Electrieal energy cam be produced from
(a) mechanical energy (b) chemical energy
(¢) radiant energy (d) All of the above

Ans : (d) All of the above

Cosl, petroleum. natural gas, and propane are fossil

fuels. They are called fossil fuels becanse:

(0) they are burned to relesse energy ond they couse
air pollution

(b) they were formed fram the buried remains of
plants and tiny animals that lived hundred of
millions of years ago

(¢) they are non-renewable and will run out

(d) they wre mixed with fossils to provide energy

Ans ¢ (b) they were fonmed from the buried remains of

plants and tiny animals that fived hundred of millions

of years ago

In & hydio-power plant

(n) Potentisl emergy possessed by stored water is
canverted into clectnety

(b) Kinetic encigy possessed by stored water is
comverted into potential energy

(¢) Electricity is extracted from water

(d) Water is converted into steam to produce
clectraty,

Ans : (a) Potential energy possessed by stored water

s converted into electnicity

The power generated i a windnmll

{a) is more in rainy season since dainp air would mesn
more air mass hitting the blades

(b) depends on the height of the tower

{c) depends on wind velocity

{d) can be inutewsed by planting tall trees close to the
tower Choase the correct statement

Ans : (¢) depends on wind velocity

Choose the correct statement

(b) There is infinite storage of fossil Fuel mside the
eamrth

(c) Hydro and wmd energy plants are non polluting
sourees of energy

(d) Waste from a nnclear power plant can be easily
disposed off

Ans : (a) Sun can be taken as an imexhaustible source

of energy

Natwal gas 5 tsnsported mamly by
{a) pipelines (b) trucks
(¢) barges (d) al three equally

Ans : (a) pipelines

Gasoline is produced by refining which fossil fael”?
(8) natoral gas (b) coal

(¢) petrolemmn (d) propane

Ans : (¢) petrolemn

DIRECTION : Complete the following statements with an
wppropriate word/term to be filled i the blank space(s).

1

2.

A device that utihses solax energy for cooking purposes
iscalled a

Ans @ Solar cooker

Hydro power plants convert
water mto electricity.
Aus : Potential

energy of lnlhng

A solar cell is a device which converts solay enengy
directly mto ...
Ans @ Eleotricity

When wood s barnt in s limited supply of oxvgen
i& left behind a= residue.
Ansz : Charcoal

Bio-gas contaims . % methane.

Ans: 75

FElectricity generated from sea waves is . . .
Ans : Tidal energy

The internal heat of an earth is known as
ENETRY.
Aus ¢ Geothennal

{8) Sun can be taken as an inexhaustible source of M. Many of the sourves ultunutely denive thew cneigy

ENErgy
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Ans : Sun

¢ 1 RIS BT e countiies have number of power
plants based on geothernal energy.
Ans : New Zealand, United States of America

12. The material obtained from the bodies of plants and
smunals 13 called ...

Ans : Biomuss

W To establsh 1 MW generator, the wind energy farm
needs abont . hectaves of land.
Ans: 2 :

WM. Coal gas is mixture of
Ans : Hy, CH, and CO

15. Coal petrolenm and
souree of modemn fucls.
Ans : Natural gas

are the three inportant

16. Ocean Thennol Energy plants can operate if the
temperstnre diffevence between the water at the
surface and water at depths up o ... .. 5
or more

Ans : 2, 203 k (e 20°C)

1I. Bio-gas is o mixture of
and

Ans : Methane, hydrogen, hydrogen sulphide

. carbon dioxide,

1. To mamtamn the requied speed of the turbine, wind
speexd should be higher than

Ans : 15 ki /h

1. When a complex material is heated strongly i the
absence of air, then id decompuses to the simplest
substance. This process is colled .

Ans : Destructive distillation

DIRECTION : Read the following statements and write your
answer as true of false

1 The low kinetic energy (slow moving) neutrons
which can produce nuclear fission ave called theomal

NeNLrons.

Ans : True

2. Son is the source of heat contained in geothermal
energy.
Ans : F

3. Gaobar gus s a non-renewnble source of energy,
Ans : False
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The main constituent of blo-gas is not methane
Ans : False

Black colour s a very good absorber of heat and good
reflector

Ans : False

The use of geothermal energy coauwse pollution.
Ans @ False

Dreop drilling in the earth to obtain geothermal encrgy
1 very difficult.
Ans : True

Natural gus s renewable source of energy.
Ans : False

Wood 15 better fuel than charcoal
Ans ; Falso

Nuclewy fissaon resctions have been used to generate
elsctricity
Ans : True

Om an average. the 5.5 neutrons per fission is released.
Ans : True

Solar cookers make nse of solar energy.
Ans : True

The sun i the nltinate source of energy
Anz : True

Sun i the nitimate source of energy
Ans : True

Charcoal i= a better fuel than weod and coal.
Ans : True

Bic-gas is a better fuel than animal dung-cakes
Anz : True

Our energy requirements increase with our standard
of living.
Ans : True

Biogas 15 produced by the serobic degradation of
animal wastes like cow-dung in the presence of water
Anz : True

In order to Mifil our energy requitements, we try to
improve the efficiency of energy tequirements, we try
to improve the efficiency of energy nsage and also try
and explait new sources of energy.

Ans : True

The calorific value of methane is less than that or
butane

Ans : Falze

. »
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N. Producer gas is obtained as one of the produocts of dry A B c D
distillation of coal.
Ans 1 Fale (@) r $ P q
(b) P r 5 q
22. The sun is an nltimate source of fossil fuel (<) a p ¥ -
Ans : True
(d) P q 1 U]
23, Cosl ges is an is an exnmple of primary fuel Ans ¢ (d) A-p, B-q, Cr, Ds
Ans : False
3. Match the following
M ;l:nm&'; 15 the (?ldeu. sowce of heat energy for Cotmm 1 n
Ans : True (A) | Hydrogen bomb | (p) Fission
(B) Atom bomb (q) Fusion
() | Stelar energy | (v) Critical mass
(D) | Nuclear reactor | (s) | Controlled chain
DIRECTION : Each question contams statements given in resclon
two columns which have to be matched Statements (A, B, C.
D) in calumn-I have to be matched with statements (p, . r. s)
in column 11 A B c D
(a) r P s q
. b | s q r P
Colmm 1 Colwun 11 () a P r 8
(A) Peat (p) Tieuid fuel (d) P q § T
Ans: (c) A-q, B-p, C-r, -D-g
(B) Alcohol (aq) 27% of carbon
(©) | Decay of omsss | (r) | Difference m tem-
perature betwoeen < /| it
N S DIRECTION : In the following questions, a statement of
anil sl et assertion (A is followed by a statement of reason (R} Mark
(D) | Rise and fall of N the correct choice as:
wnmmlcvch = (s : (a) Both assertion (A) and resson (H) ave true and
LR reason (R) 15 the correct explunation of assertion
: {A).
(E) OTEC ) tidal el 1 (b) Both assertion (A) and reason (R) are tme but
(F) | Ultimate source | (u) sun reason (R) 15 not the comect explanation of
of enorgy assertion (A)
(G) | Stored i food | (v) wind (¢) Assertion (A) is tme but reason (R) is falsa
gruins (d) Assertion (A) is false hut reason (R) is trme
(H) Moving air (w) bio-energy (#) Both Assertion and Reason are false
Ans : Aq, B-p, Cs, D-t, Er, F-u, G-w, H-v 1. Assertion : Dum s o barrier thut is built scross o niver
OF o stream
2 Reason : Large dam can ensmre the storage of adequate
water for irigation and also for generating electricity.
Calunun [ Colnm 11 Ans : (b) Both assertion (A) and reason (R) are
(A) | Ramagudam thermal | (p) | Andhra Pradesh true but reason (R) is not the correct explanstion of
plant is in wssertion (A).
(B) | Raichur thermal | (q) Karanatak Damn is a bamier that stope or restricts the flow of
plant is water o undergronnd streams. A dam is built to
= contral water through placement of s blockage of
(C) | Korba thermal plant | (r) | Madya Prodesh earth, rock across a strenm or river. They usually store
e water in a reservoir, which is then used for a variety
) Farraka thermal (%) West Bengal of applications such as imigation and municipal water
plant is in supplies.
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2.  Assertion : Bio-gus is & boon to the farmers.
Reason : Spent slurry is nsed as manure and can be
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used to generate electricity

Aus @ (s) Both assertion (A) and reason (R) are true
and reason (R) is the correct explanation of sssertion
(A)

Bio-gas is considered to be a boon to the fanners os
the shirry left m bic-gas plant 15 a good manure for
fields.

Assertion : Certain gases like carbon-dioxide, water
vaponr, methane are called greenhouse gases

Reason : These gases are responsble for heatmg up of
the atmesphere

Ans : (n) Both sssertion (A) and reascm (H) are troe
and reason (R) is the corvect explanation of sssertion
(A)

Sun is very hot, so it emits infrnred radistions of very
short wavelength The Earth absorbe the radiation
and then re-enmts. But the Earth bemg cooler emits
radiations of longer wavelength These are absorbed
by certain gases like carbon-dioxide, water vapour
methane etc This effect i called greembouse effect
and the gases are called greemhouse gases This ie
responsible for heating up of the atmosphere.

Assertion : Solar heating devices wre pamted black.
Reason : Black badies are good absorbars of heat. so
temperature rses quickly.

Ans : () Both assertion (A) snd resson (R) are true
and resson (K) is the correct explanation of assertion
(A).

Solar heating devices are painted black s block bodies
nie good absorbers of heat

Assertion : Charcoal is a better fuel than wood
Reason : It has o lower heat generation efficiency.
Ans : (0) Assertion (A) is true but reason (R) is false.

Charcoal 15 o better fuel than wood becanse it burns
without flames and is comparatively smokeles. It also
has higher heat generation efficiency.

Assortion : Burning of coal or petrolowmn products
lead to sar pollution.

Reason : Coal and petrolouwm are non renewable source
of energy.

Aus : (b) Both assertion {A) and reason (R) are
true but renson (R) & not the correct explanaton of
wssertion (A).

Coal and petroleum ave non-renewnble source of
energy as they take millions of vears to form and ave
available in very limited amonmt. Buming of fuels
relenses Bases hike 00,,50,,N0.. These gases alr
pollution. With van, these pollutants full as scd mn
and canse soil pollation

Assortion @ Nuclear fusion s wed o gencrute
electricity.
Reason : Nuclew power is used because it cannot be
comtralled.

Ans : (¢) Assertion (A) s true but reason (R) is false

Assertion : Bio-gas i= also known as Gobar gos.
Reason : The snimnl dung s the common waterial
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used in the bio-gas plant

Ans : (a) Both assertion (A) and reason (R) are true
and reason (R) is the correct explanation of assertion
(A)

Asszortion : Solar cooker is painted white from inside
Reason : The black surface to the solar cooker is a
better heat absorber than o white surface

Ans : (d) Assertion (A) is false but reason (R) is true,

Assertion : Charecal & a better fuel then wood for
domestic purposes

Reason : Charcoal bums without flames and does not
produce smoke during burning

Ans : (a) Both assertion (A) and reason (R) are true
and reason (R) is the corvect explanation of asscrtion
(A).

Assertion : L™ muclens. hy absorbing & slow neutron
undergoe unclar fisaon with the evolution of a
significant gquantity of heat

Reason : During muclear ission o part of the ongimal
mass of U™ ig lost gets converted into heat

Ans : (a) Both assertion (A) and reason (R) are troe
and yeason (R) s the coneet explanation of assertion
(A)

Assertion : The slurry loft behind in & bio-gas plant is
used as @ manure,

Reasan : Shory containg methane and phosphorus as
two m@mn nutients i i,

Ans : (e) Assertion (A) is true but reason (R) is false.

Assertion : Theruml power plants are set np near coal
or gas helds.

Reason : Transmission of eloctric power is more efficient,
convenient and economical then transportation of
fossil fuels like ccal or natural gas.

Ans : (a) Both assertion (A) and reason (R) are true
and reason (R) is the corvect explanation of assertion
(A).

Assertion : Solar cell is a device which converts solar
eneigy 1.2, hight enevgy directly into electricity.
Reasan : They are made up of semi-conductors like-
siheon, germanium and seleninm

Aps: (b) Both sssertion (A) and reason (R) are
true bt veason (R) is not the corvect explanation of
assertion (A).

Salar cell panel absorb sunlight ss o sonree of energy
to generate electricity. [t comprises of a large number
of photo voltaie solar cells and can provide much
Ingher power for many uses

Assertion : Sola conker coverad with a plane glass
plate 12 more effective then the one wiich 1 left open
Reason : Covered glass plate allows solar radiations
of smaller wavelength to pass through it but does not
allow heat radiation of longer wavelengths enmtted by
heated container to pass through it thus, heat remains
inside the cooker itself and food 1tem & cooked casily.
Ans : (a) Both assertion (A) and reason (R) me troe
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snd resson (R) is the correct explanation of assertion
(A)

Assertion : In street light cirenits, photo-cells ure nsed
tu switch on and off the lights antomatically ot dusk
and dawn

Reason : A photocell ean convert a change i ntensity
of illumination into a change in photo-current. that
can be used to control lighting system

Ans : (n) Both assertion (A) and reason (R) are true
and reason (R.) is the correct explanation of assertion
(A)

Assertion : Construction of big dams has lots of
problems associated with them

Reason : Laige ccosystems me destroyed when
submerged under the water in dains

Ans : (n) Both A and R are true and R is the correct
explanation of A

Assertion : Charcoal 15 better fuel than wood
Reason : Wood is smokeless and leaves no residue.
Ans : (o) Assertion (A) is true bur reason (R) is false

Charconl s better fuel than wood because it i
smokeless and leaves no vesidue It has higher heat of
combustion.

Assertion : Solar energy, wind energy and hydro energy
nre considerad to be exhanstible sonree of energy.
Reason : The raie of depletion of these energy sources,
because of extraction of usable enetgy, s practically
negligible

Ans : (d) Assertion (A) is false but reason (R) is true

Assertion : Wind energy is an envivonment friendly
and efficient of energy.

Reason : Wind energy fares can be established
everywhere,

Ans : (¢) Assertion (A) is true but resson (R) is false.
Wind energy is an envivomment friendly and efficient
of energy. Wind encrgy forms cannot be cstablished
everywhere becanse it neads back-up facilities of large
area and high cost of mamtenance.

Assertion : Silver metal 1= used for joining varions
solar cells i w solw cell panel

Reason : Silver is a shiny motal

Ans : (h) Hoth assertion (A) and reason (R} are
true but reason (R) s not the correet explanation of
assertion (A)

. Assertion : Nuclear forces nre independent of charges

Reason : Nuclear force i not a central foree
Aus : (b) Both assertion (A) and reason (R) are
true but reason (R) is not the correct explonation of
assertiom (A)

Assertion : Solar cooker s a device used to cook food
by utilising the energy madiated by the Sun.

Reason : Solar cooker can be used to cook food on
clondy days and during might

Ans : (c) Assertion {(A) is true but reason (R) s false,

Solar cookey cannot be used to cook food on cloudy
days and during night.

NO NEED TO PURCHASE ANY BOOKS

For session 20149-2020 free pdl will be svailable at
. L T for
1. Previous 15 Years [xams Chaprer-wise Question
Bank
Previous Ten Years Bxam Papor (Paper-wise).
20 Model Puper (All Solved).
NCERT Saltions
Al materind wall be solved and five pdf. Tt will be
pravided by :wﬂmanhnrnnd willbeupduod rcgnlnri:
Lot o o sl ek olibaied te Custral
R I RTP el mhm-.mmuwﬂu

s rasaid pdly 10 dudase Al wew diw die CHEE st fa Camy Bodke
For Sehond Exhutation

- Wl

- \ ] Page 136



